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No. of Questions : 150

gFF #t I9EET ¢ 150
Time : 2 Hours " Full Marks : 450

qwT : 2 ¥ - quIiE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question.

HRIRES ve=T @it 5@ B H 99 HY | T8 999 3 (§9)
Rl 2| geEE TEH IO F 0T QF 3HE FeT AW
U ST S99 T OWTEih g7 ' |

{2) If more than one alternative answers seem 1o be approximate to
the correct answer, choose the closest one,

aﬁwﬁm%ﬁmwaﬁm%ﬁmmﬁ M FreEeTs

e IO F |
01. Cardinal approach used the following concept to explain consumer
equilibrium
(1) indifference curve (2) egui-marginal utility
(3) product maximization (4) diminishing marginal utility

T GREEINT SN Haed @ e & [ e A & fea
ST T T AT B

(1) TETEFET = (2) HA-HHF IEANEE

(3) aw @ IrERTH IEA (@) SEEA HHT I

3 P.T.O.
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- 02. An increase in consumer’s income, price remaining the same, will
result into :

(1} an increase in demand

(2). an extension of demand

(3} no change in demand

{4) a shift in demand curve to the left

ma—.ﬁ aﬁmﬁqﬁtﬁvﬁﬁﬂmﬁﬁtﬁ%ﬁqﬁqﬁvﬁ
(1) #Fr & ghs

(2) \F1 § B

(3) =T # i aitgeds

(4) w1 @6 § A gvw qiad

03. When the demand curve is vertical, it represents :
(1) Unitary elastic demand
(2) Perfectly elastic demand
(3) Relatively elastic demand
(4) Perfectly inclastic demand

W W @y 35w daT B, of a7 wefdla wear B o
(1) Zwr$ e A (2) gotoar SeER "/
(3) TEWTTE T9 § AGE ART (4)  goiaar ases 5

04. A Firm's Total Cost (TC) curve :
(1) lies below its variable cost curve
(2) rises more steeply than its variable cost curve because TC
includes fixed as well as variable cost
(3) ise identical i in shape to its variable cost cunﬂ:, but ‘higher’ in

position
(4) is a herizontal curve



05,

07.

14P/239/4

UH FH HI FA AE a9

(1) Ius uftEd=siia s g% & i 8ar 8

(2) SEd gREdasia @FE 3% § a5 & Fgar & HifE |5
AFg # oY oF oftedqshie 29 @ gt 8 )

3) aﬂ%uﬁaﬁmﬁafmﬁaﬁi%mﬁaﬂz@ﬁrzﬁrﬁm%ﬁﬁ
IEE FAT B Refy & ST B

(4) uEw Afest T Sar B

If the production isoquant is ‘L’ shaped the two factors are :
(1) Imperfect substitutes (2) Perfect substitutes
(3) Imperfect complements (4) Perfect complements

AT IATEE TR 9% ‘O’ I @ Bl Ol &l Sed @
ame ¥

(1) get e (2) gof wF=

(3) oot o2 + @ T T

The difference between average cost and average revenue is :
(1) Total profit (2) Average profit

(3) Net profit (4) .M@.rginal profit
g Aara uF AT T F drE FH AT B 8

(1) THF (2) ofrEa @

(3) §=| W (4) HHFT @

In an isoquant map two isoquants are not parallei to each other. This
is due to the fact that :

(1} Prices of the two inputs differ

(2} Tastes of the consumers differ

(3} MRTS,, is not the same for both the iscquants
(4) Both (1) and (2}

5 P.T.O.
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@aﬁﬂﬁrﬁqﬂ%mm%@%%mﬁmaﬁéﬁ%l
ZEH FET B

(1) ZEF ATt & FHar § oAt T B

(2) SUHrERmRT & st § oo g B

(3) ﬁﬁﬂﬁwﬁaaﬁfﬂﬁrﬁwﬂaﬁmﬁiﬂﬂﬁﬂ
(MRTS,,) FAW W Eef R

@ (1) 3 (2) O

08.. In oligopoly market we have :
{1} negatively sloped demand curve
(2) kinked demand curve
(3) -positively sloped demand curve
(4) normal demand curve

SreqiERry ara ¥ '\ O € ¢
(1) T &1 FIa |7 qeb
(2) Pl w5 =%
(3) wHARHE T g AT G
(4] W HOT 9%

09. What is the shape of the demand curve of a firm under perfect
competition ?
(1) Horizontal (2) Vertical
(3) Positively sloped (4) Ncgativ:];-;l sloped
th:
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ot oA # wE B @ AR oE @ Ry B A B
(1) = (2) s
(3) YAEE ST gGiE (4) FNHE B Al

According to Marshall, the minimum price which will induce the firm
to produce in short period is one which just equal its :

(1) Marginal Cost (2) Average Variable Cost

(3) Average Fixed Cost (4} Average Total Cost

qIST & ATEI, T8 GATH FIH A HATTHA 7 TFH FH Bl Feqnad
w B g AT s & aue? ol §

(1) HHHET @FTd & (2) ofrag aRad=de ave
(3) ohEm Rl @rm & - (4) ofrma gw A &

Liquidity preference theory of interest is associated with the
name of :

(1} Marshall (2) Pigou

(3) Keynes (4) Samuelson
el i aeaAdl g9 e @ A @ ' ®
(1) =t (2) 97

(3) @4 (4) WGITEA

When a production function is homogeneous, the law of constant
returns ta scale holds :

(1} .True
(2] False _
(3) True, when preduction function is homogeneous of first degree

(4) - Information is inadequate

7 P.T.O.
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%G?ﬁwwﬁm%,ﬁrﬁmﬁqﬁ%nﬁrﬁwﬁrzmw

(1) €9

(2) HEN™ .
(3) @™, 9 IO O UF HE qE T G 8 |
(4) TET Ui ¥

13. Which of the folicwing is not the charactenstic of monﬁpo]y ?
(1} Few buyers - <4
{2) Single producer
{3) Homogeneous product
(4} No entry of the new firms

Prafafag & & cwiftgre &t S\ d Aduar =t & 7

(1) =% & (2) HF IEE

(3) THEY TH (4) @& wHl & FAN gL Wiy
14, Price cnnsumption'curve for a normal commeodity has :

(1) a vertical slope (2) a negative slope

(3) a backward slape (4} a positive shope

o g )] @ fae e I am & @

(1) TEH B[E arEm (2) SHUTCTS T FrelT

(3) 9B W TTH TIA T (4) €FTAR T AT

15. Engal curve shows :
(1) The quantities of different goods which the consumer will
purchase at various levels of income
(2} The quantities of goods X and Y purchased at different prices
(3} The gquantities of a goed purchased by consumer at various
levels of income.
(4} The quantitzes of a good purchased at differentl prices.
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(1) 9E & fafys el ot Sove At awgedt & S T
CRiES)

(2) fafdr=r awdl 9¢ X o Y & @98 9= a3

(3) ™ & Rfw= @ o IeHEE G B o g @ ' il
St - el AT

(4) ﬁfﬁaﬂﬁﬂﬁtmwmﬂﬁ@ﬂﬁaﬁmﬂm

Which of the following is not an assumptién of the revealed preference
theory ?

(1) The choice of the.consumer ﬁea]s his preferences

(2) The income of the consumer and the price of the commodities
should remain constant throughout t,hE-pcriod of analysis

(3) The consumer may choose a number of combinations of the
cambinations in any given income-price situation

(4) The tastes of the consumers are given and remain unchanged.

gauifea wftme feera @ Frefafag & @ $8 @ arar 3 &
(1) STHvRN H FAT IEH A W sEpe FaT B
(2) RreAweT W oAty A wqedeRT # T e FRgelt = BT
Rerr = =nfew
(3) Twelt € g smg-dhma Rufy # IuvierT qwgel & FgT H
A g T B
(4) Emﬂﬂﬁﬁraﬁ et & g% ¥ wuramﬂ?aﬁhﬁ=nﬁﬁ'ﬁl

] P.T.O. .
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17. ldentify the coefficient of price elasticity ;of ﬁemahd when the

18.

19

percentage increase in the quantity of a good demanded is smaller
than the percentage fall in its price : -

(I} equal to one (2] quarter than; one
(3} zero ' (3) smaller than. one

ToiF qeenfg .
(1) TF & =& (2) uw =g
3) W= (4) TF 8§ Fw

Indicate ingcorrect statement :

(1) When AP rises MP iz more than AP

(2} When AP is maximum MP is equal to AP
(3} MP cuts the AP curve at its minimum
(4)  When AP falls, MP is less than AP

AT FU FAEY - _

(1) maﬁﬂawﬁmmm%ﬁrﬁﬁmm(mp)mﬁ
- grET #er B :

(2) 919 AP ftepeH &n &, MP AP & =¥ &a7 2

(3) MP % AP 9% &I a9 Reg 93 Frear

(4) & AP Freem &, MPAP & 39 &iar &

Producer’s equilibrium will be achieved at & point where :

(1) MRTS (Marginal Rate of Technical Substitution) and Price ratio
are equal to each other |

{2) MRTS is greater than the price ratio
(3] MRTS is lesser than the price ratio
(4) The slopes of isoquant and iso-cost times are different.

10
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@mwwwﬁgwwéﬂnaﬂ

(1) Mms(amﬁaﬁrnﬁwmﬂqﬁzﬁﬂmﬁ)@aﬁﬁﬁﬁm
oF TH B UL B

(2] MRTS FHa U & Afus & &

(3] MRTS HIHd F9H & F7T BRT 8

{4) ﬁﬂﬁﬁm@m—wmﬁwmfﬂaa

Under the law of variable proportions, the firm would like to operate
in which of the following stage ?

(1} 1stage (2) I stage
(3) IH stage (4) Il and III stage

qﬁaﬁﬁﬁﬁaaﬁmﬁ%ﬁﬂﬂ%ﬂaﬂﬂ tﬁﬁﬁmﬁﬁﬂﬁﬁﬁﬁm
e # @ HTA AR
(1) 999 FEer ' (2) P srEen

Jery SrEE (4) fecfra o geite ofewn

Total cost in the short run is classified into fixed costs and variable
costs. Which one of the following is a variable cost ?

(1) Cost of row materials

(2) Cost of equipment

(3) Interest payment on past borrowings

{4) Payment of rent on building

HTH # A T ) R ATt o SRt et F g
Ry wiTe ¥ | Preifaie @ B @ o @

(1) =R & A (2) wae @ @rE

(3) ﬁ:@wﬁwmw (4) TFFH P BB @ P

11 P.T.0



14P/339/4

a3,

Find out the incorrect statement : |

(1) Average revenue curve is the same as demand c{;we

(2) If the point elasticity of demand is unity, the mrresponding
marginal revenue is zero -

(3) Average revenue on the demand side, is the counterpart of
average cost on the supply side -

{#) * The less elastic the average revenue curve, the more perfect is

the competition in the market

HAE HUA T TNy

(i) ahmmqmrﬁﬂm%m&rm%

(2) wﬁu#ﬁahmﬁ%mﬁ,ﬁlﬂmmsﬁ
grm

(3) =T qar # A shww o R, off gw ¥ gwewr oRmw shem
AT B |

(4) Nww APH TF e & Aremc @, e ® afrdfE
IR quf Bnfr

The transformation curve i8 derived from :
{1} the consumption curve

(2) the utility possibility curve

(3) the social welfare function

(4) the production contract curve

12
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TATIOT a5 [T e B
(1} SYERT A% & (2) SYRfEN FEET @ |
(3) WIARTER FHEET HEH o 4) TEe wdiar I 9

_ N | .
Dumping refers toc price discrimination according to :

(1) quantity purchased
(2) incomes of buyers
(3) selling at lower price in foreign market

(4) - uses to which the product is put by the buyers.

Uit & Aea-fadr e & srgaR war @

(1) aeg A i 7 w5

{2) it = 3

(3) PBrEsdht g # w9 #fma 97 e

(4) BEmelt FTC aeg B Bea SwAn F wmar wmen ¥

Which of the following is sell’ng cost ?
{1) Expenditure on packing (2) Advertisement Expenditure
"(3) Transportcost (4) Wages paid to the workers

Prafiaa & & @9 o R ara & -
(1) [T oT =T (2) PRrstew 9T =g
(3) TEEE AR (4) sifert @ & 1§ "ol

13 P.T.O.
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26. What does the Game Theory assume ?
(1) Thﬂ rival form mostly adopts a strategy which is unfavorable
for the other
(2} The rival firm makes effort for sales maximization
(3) No alternative choices are available to the firms |
(4) The firms aim at profit maximization

TR oA # ar Arger o ot & 2

(1) % a3 3@ 9T & gEia Juar & o ga7 @
o sfteper &t

(2) 9fE= v fam) JftepaH = &1 U9 Hi 2

(3) @At & 9/ HE JFTH TG Iy TE A ¥

[4) B W SURTH T F I TEA ¥

27. The marginal productivity theory of distribution shows ;
{1) an addition made to total oﬁtput by an additional unit of a
" factor of production
(2) money value of the marginal unit of production
(3] [factor price equals the value of its marginal praduct
(4) net revenue earned by s;:]ljng the marginal unit of production.

fdaTer o1 W Swawar e it s &

(1) IO % 9eF 9 ey g 277§ 9aed # e
T JeqUET.

(2) ammﬂ%mm%wﬁlﬁiﬁﬁq

(3) Wﬁwﬁmmmw%q@%

- gymT Bt B

(4) IETES A A g 3E @ Ry @ i e
TH SRR STNTH

14
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28. Wage differentials are not affected by :

29,

. (1) . Existence of nan-competing groups.
(2) Market Imperfections
(3) Geographical defferences
(4) Demand for and supply of Labour.

eTgdl & ST gwifda wd a3 ¥
(1) Tr-ufearh oqEi @t sufefa @
(2) &R AYUiErsdi &

(3) AR STl &1

(4) =9 F H5 ud g =

Quasi-rent refers to :

{1} rent on account of fixed supply of land

{2} long term return on machinés and equipment
{3) Surius earned by machine in the short pcriu:;d

(4) long term reward for human ability

AT - & ey §

(1) 4 #t ReT g % e are M i a

(2) AT & dE 9X o #A arer e e
(3) HAerES # R 3r oifta fBear s g snfte

4y A dvmar ® g S o

30.

For which of the following motives, the demand for liquidity preference
is determined by the rate of interest : '

(1) -speculative motive (2} Transactians motive

(3) Precautionary motive {4) All the three motives

15 P.T.O.
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31.

33.

FrfaRae Igvdt & @ s 3 7T @ gl Frefatea 9@ oo
gE=el & AT oX AT e ¥ |

(1) wgEas # Iy (2 dRwrh # S

(3) e W Ig29g (4) SugEa &S S®H

The Revealed prefercnce Anaiysis is based on :
(1) Need measurement '

(2) Utility measurement

(3) Deslre measurement

{4) Observed consumer hehaviour

geRfee ATHE fysawor s B
(1} STEwAwAT. AT UT ’

(2) IuAfer 99e O3

(3) FET WA U

(4] STaEeE SUHEAT AT 9T

According to the law of equimarginal ut:ilitjr, thc.cquilibrium condition
for a consumer is : '

m—mmﬁmhﬁﬁwmﬁw%ﬂmﬁﬁ#ﬁﬁz

MUX MUY _MUZ
-5
PX PY PZ

MUX - MUY <MUZ
PX PY PZ

MUX _MUY _MUZ
PX PY PZ

MUX MUY MUZ
PX PY PZ

(2|

(3)

(4)

16
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The income ¢lasticity of demand for Luxury goods is geﬁcrale :

(1} less than one (2) gqual to one

(3) positive (4} negative

Frenfeer &t awgstt &t w1 A omw dre A

(1) 9% & F gidl 2 (2) TH P FUHT B B
(3) oI Enf B {4) THOTAEH BN B

If the demand curve is a rectangular hyperbola, the e}eastmty would
be equal to :

g% AT 9% STgArEE STEaREed & a1 S 86,
(1] 0.25 (2) 0.50 (3) 0.75 (4) 1.00

For what types of goods the income effect and the substitution effect
work in same direction ?

(1) Superior goods (2) Inferior goods
(3] Oniy luxury goods {4) Only comfort goods
rE g # awgslt # Am wwE qur gfyeres gwe oF & e
¥ o ey & 7
(1) A= awgd (2) Frgee awgd

(3) Faw FoemeaT # aegd (4) @ae AR F I

The L shape indifference curve shows that the two commodities are :
(1) Perfect substitute goods

(2) Perfect complementary goods

{3) Imperfect substitutes

{4) Imperfect complements

17 P.T.O.
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37

38

39

E{mjmwmmﬁﬁma%ﬁmﬂmqa

1} oof T awgo ) gut v A 2

) e TETE € {4] HYOF I B

Which one of the following in not zn assumption in indifference - e
analysis ?

(1} Consumer is relatmnal

(2) Taste of consumer varies

(3) There are only two goods

(4) Prices of the two gouds are given

ﬁqﬁfﬁmﬁﬁﬁ?aﬂwwﬁmaﬁwﬂﬁ%f
(1) SIuHET FBasmsie &

(2) IR il 99 gEEd Tedl 2

(3) B a1 & TR &

(4) S awgelt @ g @9 8

The Law of Equi-marginal utility is also known as :

(1) Gossen's First Law (2) Gossen’s second Law
(3) Gossen's Third Law (4) Gossen’s Fourth Law
audmTe 3T Fem #r 39 aee o A e @

(1) & w1 guw fam (20 TEE @ fadg P
(3) WA F gaE e (4) TEA F Tgy e

Which one of the following conditions is ideal condition for firms
equulibrium ?

(¢} TC=TR
(2} AC = AR
(3} MC = MR and ME intersects from above
(4} MC = MR and MC intersectr. from below

18
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Frefafem st & & &9, =4 & dge9 3 Bu o s
TR Y

(1) TC =TR

{(2) AC = AR

(3) MC = MR &% MC &9 % 7% & Fre

(4) MC = MR @& MC 9 & 3T & e

In a line only hemogenous Cobb-Douglas production function with

two inputs, the elasticity of substitution between the inputs is :
(1) Zero {2) Less than one

(3] QGne (4) Greater than one

I ST A BE-FTAE T THEY SNET BT ¥ e &
e HEEETIE # e gt ¥

(1) 9= _ (2) 9 9 &R
(3] =F . (4) um T arfis

What are the Prime costs’ of the production according to Marshall ?
(1} Fixed costs (2) Variable costs

(3) Money costs (4) Real costs

mﬂm%wwﬁ‘mﬁrﬁ’w%?_
(1) Rz s (2) aftad=dhie st
(3) iR @wrd (4] et

19 ‘P.T.O.
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42. In the production function is linear homogenous of the first degree,
with the increase in output, the marginal physical productivity of
variable factor will :

(1) Rise (2) Fall
(3) Remain constant {4} Rise at slower rate

g IaTEA weE wad Ao H FHeY Wy G B A Swed
T ¥ ghe @ g-am, ofitedasie SaEe e @ HEe Al

IATEET
(1) =@ | (2) TR
(3) frar @0 (4) &7 By | S
43. The factors of production with perfectly inelastic supply earns :
(1) Economic Rent (2) Quasi Rent
(3) Opportunity Rent (4} Transfer Rent
quieran dsiea oftf & ge SwEe W A gTe Hn § o
(1) onffs = (2) STTE T
(3) STEHY ST (4) TEITTCIT T

44, In the third stage of laws of variable proportions :
(1) AP is found to be negative  (2) TP is found to be negative
(3) MPis found to be negative  (4) MP is found to be positive

uftadeie argamt & Praw & S8 smen 7
(1) AP FoTeiss wrdt ot B (2) TP SRR Gl STt B
(3) MP hoTHe Ul et ¥ (4) MP 99T 9l ST B

20
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45. Which of the following conditions does net fit to monopalistic

competitive market ?

(1) Non-price competition

(2) Differentiated product

(3) Sufficient number of sellers

(4) Restriction on entry of new firms

Frfefaa & 9 B =t w ewisoms sfade s ¥ S 968
@t ?

(1) T-Fwe gfeRfar

(2) R s

(3) TaEparelt st ugia e

Hlﬂﬁﬁﬂﬁhﬁﬁqrmmﬁ

Which of the following statements NOT correct ?
(1) GDP = GNP - {X-M}
(2} NNP at Factor costs = NivP? at Market Prices + [ndirect Taxes
- Subsidies - Government Surpluses,
(3) NNP at Factors costs = C + [ + G + (X-M) - Net indirect Taxes
(4) NNP at Factor costs = Personal ]n-ﬁome + Social insurance
contributions + Corporate profit Tax Liability + Undistributed

Profizs — Transfer Payments

21 'P.T.O.
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7.

48.

Rrffae § & A9 T wuA @E T8 & 7

(1) GDP = GNP - (X-M)

i2) WWW@H@HW[NNP}=W@W@E
u@qm+mm—@m-mm

(3) GHA HET U7 YE O SEE =C+ [+ G+ (XM - IS

(4) Wwﬁﬂav@ﬂm=mm+m
e A - AT /AT T S ST ST
T -

lhe combination of a successful wage push by workers and the

government's commitment Lo high employment leads to :

{1} Demand Pull Inflation {2) Supply Side Inflation

(3) Supply Shock Inflation ~ (4) Cost-Push Inflation
w@mmw@ﬂmqﬁmmﬁﬂmﬁmzﬁr
TG 7@ &1 SfEEe @ @4 & 9T ¥

(1) wrr B el (2) o o =AY

3) gfdf smEma =l 1) @ GfE T

L]

Suppose that the MPC = 0.8, tax revenucs equal 25% of income and
imports do not depend on income. How much would equilibrium
output increase due to a ¥ 5 crore increase in government spending
according to multiplier model ?

(1) T 7.5 crore 2) ¥ 12.5 crore

(3) ¥ 25 crore (4] None of the above

22
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T 7F MPC = 0.8, ¥ & U SIFTH 9 %1 25% 2 a8 79w

mwﬁﬁiﬂzﬁaﬁanwmsﬁﬁawuﬁfmmﬁ
aﬁﬁgmﬂﬁqﬁﬁa‘lﬁ%mmwmqﬁmﬁqrﬂ
gt ?

(1} 7.5 FT HIF (2) 12.5 FHE &

b

(3) 25 FE HIA 4 3T B ad

I[f the CP| [Consumer Price Index} was 132.5 at the end of 2011 and
140.2 at the end of 2012, the inflation rate over these two years nas:

(1] 5.6 percent (2) ©6.8 percent
(3) 5.8 percent (4} €.2 percent

A% 2011 % T H I9HEAT g gEE (CPI) 132.5 &1 S 201

&mﬁwmazﬁwa‘rwﬁﬁﬁawﬁaﬁ%%m-{m
epifer @1 w7 gy o ?

(1) 5.6 gfemE (2) 6.8 FiAa9d

3} 5.8 ufgem 4} 6.2 ufgeE

Unemployment Hysteresis :
(1} implies that the behaviour of economic variable does not

depend on history

.[2] helps explain the fall of unemployment in Europe

(3) implies that increase in unemployment is followed by
subcequee decrease
(4] indicates that temporary increase in unemployment can

become permanent

23 P.T.O.
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58.

59,

Which of the following statement about classical theory pf employment

is not true ? |

(1) It treats saving as real leakage

(2) It believes that real wage is equal to marginal prﬁductivity of
labour in equilibrium

(3) It argues that money is not an asset

(4) Itclaims that aggregate supply is perfectly inelastic.

Ty & o Ryaia & oy # Frafiga § 9 P ar wae

wél dt 8?2

(1) ¢ =T & arates ae a3

@) a5 AT ¥ B avaren ¥ anafrm ToER AW A

A IEERTT $ FUE] Bl
(3) TE AN & Be ogm we afeEary TE R
(4) I% AFen & B gegfd gofa: aeeEr ekd

As per the real business cycle theory business cycle is caused by
(1) an increase in supply of money |

(2) achange in the rate of technological progress.

(3) & change in propensity to mnsumér

(4) none of the above
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=R BF & JIias el & AGaK 9T 5% & HreT §
(1) T A O A g |

(2) TE=ibl T # gRg & # @9 g giEds

(3) I wgfed F & awen witgEs

(4) I90Fa 7 § BE T4

Given C = 60 + 0.8Yd, Yd = Y, [ = 70, if investment ([) increases by 10
what would be new income and value of multiplier :

(1} Income = 700, multiplier = 5

(2] Income = 650, multiplier = 5

(3] Income = 600 multiplier = 6

(4) None of the Above

fear gar 8 C=60 + 0.8Yd, Yd=Y,1=70 @ Fder (1) & 10 %
saay giw ereft & o 79 S ') @ e g ged BRT

(1) 3™ = 700, T = 5 (2) ¥ = 650, Y% = 5

(3) MG = 600, TTF = 6 (4) IudEd 7 § #E A8

The MEC and rate of interest determine investment in any economy.
Which of the following statement is true about them ?

(1) As level of investment increases MEC increase and rate of
interest falls

(2) MEC is high during recession

(3) MEC is positively related to expected income and negatively to
supply price of capital assets

{4) All of the Above

29  P.T.O.
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62.

et sdfegaeen § MEC @@ =0 &< asr &1 fMafer w3 ¥ ) 555
gy § g A FaFF e @@ & 7

(1) o Maw @ # gfa &if B &t MEC T=a1 ¥ 0@ =99 =X
qeeT &

2) HE F FHT MEC Fam B B

(3] MEC HgHd uid % & g9 &9 § o $oiea
gEAT & T B 9 WO 9 | gEfR g 8

(4) ITUFT @A

The Marginal Efficiency of Investment (MEI} :

(1] depicts an inverse relationship between ratt_ui’ interest and
amount of investment |

(2] is another name for MEC | f

(3) slopes downward and is flatter than MEC curve ’

(4] none of the Above

Faer it | emar (MED _

(1) mﬁ@ﬁ%m%mﬂmmunﬁﬁhm%

(2) MEC =0 & gaq 9 &

(3) ﬁ%ﬁaﬁﬁ?ﬁrﬂm%m}dmﬁ@raﬁﬁﬁ%ﬁ@m
&

@ Gﬂﬁﬂﬁﬁﬁ@#ﬂ?ﬁ bt
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63. Which of the following is excluded from the calcuiation of GAP ?

64.

(1|_ A consumer purchases a mobile set from a store

(2) A company produces a mobile setin a given year but it is not
sold in that year |

{3) A businessman purchases new furniture for his office

(4} A household pays income tax in a given year

frefaiaa # & 9 GDP #t o # mferer Tt Sam 27

(1) s ITdrRT B gEm @ AaEa 892 whe @

(2) 9% FO1 TF 99 & HEEs JC g9« 8 <] 98 39 38
ay Sy i gl

(3) T =aErd U9 FEEg & e weEe @dear 8

(4) = ufem Re gu ad & o9 F W P HIAT B

The Phillips curve under the assumption of rational expectations is
(1) downward sloping in short run, vertical in long run

(2) always downward sloping

. (3) always vertical

{4) none of the above

Rrepeiier Temen & Reerfy o Rforay aw6

(1} 9w ¥ H # % Freer g o e 7 3EW Bk
(4

(2) & A= @ o Prear @ §

(3) §&T =W Be-E

(4) IgiEd 7 | B 8

¥

31 P.T.O.
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65'

66,

The problems of inflation in developing economics is a long term

problem. This view is supported by :
(1) Monetavist theory (2) Structural theory

{3) Classical theory (4) None of the above

fererraafier 23t & g iy 2 T S wwer ¥ 5 R
F wdw e fsia e 7 .

(1) #Aifs fesia (2) T R

(3) s i (4) IqiEa F & S T

According to permanent income hypothesis, all increase in !
(1) Permanent income are saved

(2) Permanent income are consumed

(3) Transitory income are saved

{4) Transitory income are consumed

Wl o OitEeaE & AN "

(1} =t omg ¥ 89 awh ust gRe 37 & S §

(2) wWrll J # @9 ael 8 g %y & ot @

(3) STeEmeE g ¥ oM gl oW g mer fhoond B
(4) oI g # A9 gl & afs =g & O ot #

- 32
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The government expenditure multiplier in a 3 sector economy is given

by : .
o - sdfemeeen & |w@d &g e guay B B

K:ﬁY.—. ] K:..%.‘.I:z_l_
(1} AG 1-o+ct (2} AG l-c
AY 1

(33 k= AG = loetcloT (4) None of the Above

[f no foreign companies preduce in a counitry, but many of the

country's companies produce abroad, then :

(1) The country’'s GNP > GDP

(2) The country's GNP < GDP

(3) The country's GNP and GDP will tend to be equal

(4) None of the above

afy frdt Ssr & g RRsh woat Seafe @ wedht Beeg 99 39 A
Fga © Bt R A SwEs sl & ar

(1) ZE 9T H GNP > GDP
(2) TH IW H GNP < GDP
(3) 39 397/ GNP TT GDP TSI BFN
(4) SUiET ® # HF TFE )

3a ' P.T.O.
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69.

70.

A farmer buys a new tractor from a company. This tractor is included

in GDP as :

{1} A durable consumer good

(2) ~ Partof gross private domestic investment
{3) A service

(4) A non-durable consumption good

%W@Mﬁwim@ﬁmﬁlqs%ﬁraﬂ&wﬁam
% P vy # afiwlag oar B

(1) oF fears awg & &0 H

(2) TFHd gy el Ry & 9 # w9 #
(3) Har & w9 H

) f P avg B wg A

[f the Centrai bank of a country wants to drain reserves from the
banking systems, it wﬂl :
(1) Lower the di.ccunt rate | sr.
(2) Purchase government securities

(3) Sell government securities

(4) None of the above

34
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gf fRelt 337 & B Ak g8 B AW e ¥ FEYT e
gear & a g8 e § @ s s

(1) 9E¢ & T P &FH HaW
(2) WX hrafEt @ gdRm
(3) wHXE gfrgfaat s a=mm
(4) 70T # & P et

Which of the following is NOT a feature of classica! school ?
(1) Treating money only as medium of exhange

{2) Belief in wage and price inflexibility

(3) Assumption of perfect competition

{4) Both (2) and (3)

Prefafera & & @9 el ToEm A Bdwa T8 &7
(1) e @ R @ aras A | |
(2) Aogdt od #Ea W A "

(3) goi gREfEr @ A

4 (2 o @ I

Vaidyanathan Committee’s report relates tc revival of
(1} RRB (2) NBFC

(3} Cooperative Credit Structure (4) Nationalised Banks

35 P.1.0.
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73.

74.

e il RO Pl & & s gres 8 wefag 27

(1] IRoRcdlo (2) THoHloUHoH e -

(3) HEHE W@ €= (4) UFgEga qF

The rate at which RBI lends to banks under the liquidity Adjustment
Facility is called : _

(1) Repo Rate (2] Reverse Repo Rate

(3) Bank Rate {4) Cash Reserve Ratio

averey GAATA giaer § s R S offw Sfar ara 9t @y
PRzt o R AT & o/ Fed B -

(1) W& (2) faoder ¥ 2
@ &= 1z (4) wram frord ey
o
RB! notice CRR under ............... Act
(1) Section 24 of the Banking Regulation Act
(2) Section 42 of the Banking Regulation Act
(3] Section 24 of the RBI Act ' ‘
(4) Section 42 of the RBI Act |
fiord & HoHToITod AT .oovvenennen .. st & =t

& 2 : o
(1) AT TYeeE oFE @ 9T 24

(2) &R Tg@e oo & 9T 42

(3) RodTo3TFo H I 24

(4] oNTeHonEs I awy 42
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75. As per the RBI's clean Note Policy, writing on a Currency Note is :

(1) An offence (2). Not An offence

(3) A Punishable offence (4) None of the Above
Rod &% %t =res e MY & sgar 3 Ae w Rreer
(1) 9T & (2) oTgy & 2

(3) =AY gy B (413ﬂﬁqﬁﬂﬁ§ﬁ§ﬂ'§

76. Which one of the following is not a measure of central tendency ?

{1} Mean {2) Mean deviation
(3) Madg:‘ (4) Median
Prefofea & ¥ 9, =69 ggfa &5 a9 T & 7
(1) =AY (2) #req frges
(3) =EgT® _ (4) WHiemsT

77. What is 1:r - !; in statistical analysis ?
(1) Class (2) Class limits
(3) Mid-value | (4) Class interval
wRes Rseger & L-1 e g7
(1) & (2) T e
(3) AE-T& (4) & S

37 P.T.O.
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78.

79.

' i
If, * = +?(m -c}; whatis * ?
(1) Mean (2) Mean Deviation -
(3} Mode (4) Median

af, *=heim-c) d  wT Y ?
(1} Hreq (2) wreg @reds
(3) =TS (4) witEERr

If in a frequency distribution table classes one made like 0-9, 10-19
and 20-29. The grouping method is called ?

(1) Open class method (2) Continuous method
(3) Exclusive method (4} Inclusive method

e farelt oo R el # &9, 0-9, 10-10 T ED—ZQEF-TTEF.
Haaaia ARy sz ?

(1) g F of (2) oRafe= A
(3) aTgmRt fr 4y wwrEsfr Hfa
'Faur and Cross' method is used to calculate :

{1) Mean (2) Frequencies
{3) Median (4) Mode

srgie fafy @1 maeT @ 8, T A H
(1) |y (2) R H
(3) wiemEr & . (4) =EEE @

38
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If mean = 12 and median = 16.5 the mode would be :

AR wir=m = 16.5 T AT = 12 @l =g enm
(1) 14.5 2) 255 (3) 18.5 (4) 285

What is the mean deviation of 1, 2, 3, 4 and 5 ?

1,2,3,4 ofT 5 @0 "y Rrgee = & 2
(1) 1.0 2] 1.2 (3) 2.0 (4) 2.2

[f regression lines Y on X and X on Y énncides and make a single line,

the coefficient of correlation would be -

e gt Y@, Y g7 X @ X a0 Y e o of Pyt ©n
Hrefr ¥ fffa % @ mEwery oniE e
o - @2 =25 3) .50 (4) 1.0

[f P, x P, = 1, Which test does the index number satisfy ?
(1) Weight reversal test (2) Time reversal test

(3) Factor reversal test {4) Price reversal test

qfE P, x P, =1, & o Gorwis foFg qleo § @ ¥ 7
(1) A-Zepwar e 12) 9T IueEar gl
(3) = IoFgHT THEOT (4) FEI ISHHAT TIET

39 P.T.O.
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B87.

An Index Number formula is said to be satisfving circular test, if the

value of P, x P, x P, is equal to :
P, x P, x P, & TeA FUST B :

1y 1/2 ) 2/2 @) a/2 @) 4,2

. Which of the following measures of central tendency would be the

best for preparing index numbers ?
(1) Arithmetic Mean {2} Geometric Mean

(3) Harmonic Mean (4) Median

Fdra water @t Frfdfey andt & § P, gIwE an FE § B
gdicaA et 7

(1) TH=E AT (2} TN AR
13) BUEH AT (4} wfEgET
The standard deviation of 1, 2, 3, 4 and 5 would be around :

1,23, 4 &Y 5 % YHY REE- ST OB

(1) 1.0 C(2) 2 (3) L4 4) 1.6

40
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Which one of the following completes the formula

i} JE ,:dr ) ?

Frefafaa § & &9 o Eﬁ" ....... } @ A FHTEw BT

¥ faix Y (TaxY
{1} { % ] (2) [T]

2 felx 2 felx
o (2 w2
Coellicient of standard deviation is equal to :

yR ey i STET ey ¥

2) i;_—xlm (3)

(1) (4 Zx00

= | a
4q | =l

If regression lines Y on X and X on Y cut each cther at right angles
the coefficient of correlation would be :

uﬁnﬁmﬂ?%@ﬁvnnxwmwwa@%ﬁm@wmm

¥ O e UE BN
(11 © 2) 5 @3 .75 () 1.0

The term cqonamic-ﬂammetef is usead for :
(1) Coefficient of Correlation {2} Index Numbers
(3) Coefficient of Regression (4) Arithmatic Mean

41 P.T.O.
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92.

93.

94.

‘el T’ 9= @ 9EeT e B
(1) weway TmE § fog (2) HIFF & FC
(3) HefeTEE o & R {4) HHY "9 & Rg

Maving average method is used in :
(1) Measuring Centrai Tenderic:}'
{2) Analysing Time Series

(3] Preparing Index Numbers

(4] Measuring Dispersion

o " fafey &1 g R swer R
(1) #H=g ggfed &1 mq & (2) YT @ e §

(3} Holdl & Ffor # (4) afero e o
Method of least squar (of first degree} gives a :

(1) Straight line ' (2} Zig-zag line

(3) Curve (4) Parabolic curve

T i B (gem Aol 9 faffer wevel B

(1) et @ (2) FF-AE @

(3) FF (4} aftge™

Which fluctnations in time-series analysis are called short-term
fluctuations ?

(1) Trend and Random {2) Random and Seasonal
(3) Seasonal and Cyclical (4) Random and Cyclical
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m@ﬂqﬁmﬁ%m%m—aﬁaﬁmﬁﬁ?mﬁaﬂk
FE] AR B 7

(1} IRy aem B oE 2) 2T qur FEd B
(3] SIS TN TR @ (4) g FAT =WHE HI

What is used as weights, in Laspeyre’s price index number formula ?
{1} Quantity of base vear (2) Average of guantities

(3] Quantity of cureant year (4} Price of base year

AyT B HHG gIEE ®ES H, WX @& 9 7 REEw
T B BT

(1) TTeme &g & == (2) \EeTt #rosea

(3) m@_em‘aﬁw (4) ST F9 & @rEd

What is used as weights, in Paasche’s price index number formula ?
{1) Quantity of base year {2) Price of base year

{3} Quantity of current year (4)  Average of quatities

M & FHE gOEE SHA ¥, 9K # =y § e g6 aon 87
(1) ST 9 & HEn (2] HFTUT FH FI ST

(3) = Y &l HEHT (4) TEmRT T

Which one of the following is not a component of time-series ?
(1) Secula.s trend (2) Statistical fluctuation

(3) Scasounal vaiiation (4} Cyclical variation

. 43 P.T.0.
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Fr=fofea & § B9 FESof @ segg a8 ¥ ?
(1) Ia=AfY (2) Hiegng I=gmeeH
(3) oTEd gREds (4} =g qiads

98. There are six doors in & room. Four boys have to come. In how many
ways they can come in the room from different doors.

qaam’tﬁﬁmﬁrtmmﬁwam%;%ﬁﬁaﬁmﬁﬁ
| Reeet alist § o= o w ¥ 7

(1] 10 2 60 (3) 24 (4} 360

1
99. What would be the differential coefficient of ¥ =57

&1 HAFHE I[ONEH T B 7

2 +1
2 2 2 2
1) Tx+1) @) &y B men ) ax+y

100. What is the differential coefficient of ¥ = ?

2x +1

Ty T HAGEH YE FT R 7

1=-2x : l-x
AN T hEx 1) (2 S &ax-1)

1-2% 1=x

Bl Kox +1) 4 Kex-1)

44
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10L.If y=2x'? , find the derivative :

R y=2x* B N srmwHe I DRI

(1) x (2] x» I N C T

102.If y = x? + 3%, find the derivative :
% y = x? + 3x* B T EFHET 7 Fow -
(1) 2x+ 12x* ‘ @) 3x+ dxt

(3) 4x + 12x° (4) 2x + 12x3

103.If y = (3x? + 1) (x* + 2x), find the derivative :
I y = (3x2 + 1) (x* + 2x), B & STFHT T FAHNT
(1} 2I1x*+ 15%2 + 2 | (2) 15x% +21x° + 2
(3) 3x*+ 15x2 + 2 (4) 6%+ 21x% + 2

104.1f demand function is P = 100 - 4x and supply function is P = 30 + x,

then find the equilibrium price :

afE | BT ¥ P =100-4x X ofif Fo B p=30 +x, @ Hygew
Eﬁ!“lﬁﬁ'lﬁiﬁﬁlq:

(1} 44 2) 16 (3) 14 (4) 30

45 : P.T.O.
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105.What would be TR on sale of 10 units if

Mﬂ=ix3-mx+mﬂ 2
20

=

I[F:r_MR=%x2-lﬂx+IUU g ar 10 gw=El B @ O TR Beeen

1| )
1] 3so (2] 450 (3) 550 (4) 650

106, What would be the consumer’s surplus when demand function is
q = 6472 while P = 222 ?

g?;nﬁﬁ?ﬁm.waq%wah P=4 d ITAFAT & g9 A=

(i} 4 (2 8 (3) 16 (4) a2

107.From a bag confaining four black and f{ive red balls, A draw of 3 balls
is made. What is the probability that all of them are black ?

T Il A A, FEH 4 Fme ofT 5 mmer A €, W 8 et ™
T g H g dvEwer 8 gl e et 2h

42

1 ] .
(1 3 @ B 5 4)

108. From thrity tickets, marked Ol tc 30, one ticket is drawn randomly.
What would be the probability that the drawn ticket number is a
multipleof Sor 7 ?

dr| femdt # &, 9T 01 & 30 =T 937 7, % fewe Fem 5
UT, FH A A FG G9EAr § fF T ey s seEr 7 H g ers
Be 7 | -

1
30

|.....
@
|

I
(1) (2) o @ 5

A

46
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109.From a geometrical standpoint differentiation is study of :

{1} The tangency of a curve (2] Area under the curve
{3] Area within a circle (4) Intersection of curves
@ Tt gemer § s, atermE B
(1) I 1 Wehr = (2) @F B A B AAHA HI
3) g« B & B (4) Tl FH e w

110. From a geometrical standpoint integration is a study of :
(1] The tangency of curve {2) Area under the curve
(3) Area within a circle (4) Intersection of curves
e A R § g, seag §
(1) @ P wfsfar & (2) @ & A F AFEA H=
(3] g & &F F (4) TH B FHAT FN

oA Aot
1111 A=, Sland B=| . )

" what would be the value of AB ?

RS HNE TR ]

a1 AB =l gog &91 BAT 7
{1 2 [13 8
(1) [4 _q] 2) EEE

(3) [ J ) f ;]

19
i
ot

A

47 P.T.O.
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112.[f matrix A has 4 rows and 3 columns and matrix B has 3 rows and 2

columns. Then AB would have :
(1) 4 rows and 3 columns (2) 3 rows and 2 columns

(3) 4 rowsand 2 columns (4] 3 rows and 4 columns

oy o A 7 4 dfFEl o 3 wew & mur avege B # 3 G
aur 2 w8t a AB ¥ 8 : '

{1) 4 dfaeit ofre 3 w79 (2) 3 dfFEET ofT 2 W
3) 4 dfadt o 2w (4} 1 dfEEr ol 4 =

21
113.1f A= 3 4

What would be the value of 3A + 31 ?

2
T A [3 4]

B @, 3A + 51 % T 997 9 7

11 3 6 3
M g 17 (2} 9 i5
6 5 5 0]
3) |g ¢ (4) 0 54‘

- 48
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F416|

114, What would be the value if 2=)1 8 3|

Iﬁ 0 2
4 1 6
afr P78 3 @ oamoamr @
0 2
(1) -222 (2} -208 (3) 288 (4} 416

115.1f row of a determinant is changed into column and column is changed
into row, then the value of the determinant will :

(1) Increases ; (2) remain the same
(3) Decreases (4) Change sign

aﬁ%ﬁmﬁwﬁdﬁmﬁwvﬁﬂaﬁwﬂmﬁm
G @ GRPTE A

(1) =5 =ier & 2) T TEaT B
(3) == o R (4) Frg F=a Fm B

116.1f adjacent rows of a determinant are trnasfeed to the place of each
other, then the value of the determinant will :

(1) increases {2) remainé unchanged

(3) decreases (4) change signs

o Rl AT @) afee oRREt B OF 3T @ e WY
AT ST [ S ay, 9 & 9

(1) =§ A@T 8 (2) smftaffs war

3) &= W & | (4) fore ==er e &

49 _‘ P.T.O.
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117.1F corresponding clements of two rows in a determinant are same,
then the value of determinant becomes :

{1) zero {2} one

(3) negaitve ' (4) positive
ﬂﬁﬁ?ﬁmﬁmﬁﬁqﬁaﬁﬁﬂmmmﬁﬁﬁm
& A & 2

(1) IH (2) TH
(3) OTEE (4} GHAETE

118.1fy = 27 + 2x then, [ydx Will be :

of% y=2x2+ 2x & @, [ydx BOW .

3 ) 2
1y Eexre @ Eegtec
2 3
-‘1] 1
(3) :-E-+:~:’+c. (4) %—+x!+c

119.if Y = 7x* then the {ydx Would be :

gfg ¥Y=7x2 81 &t Iyt&x BT

' 6x’

1 i e —_—ik
1) 5 *e - @ 5r
™. 6x’

3] — + —_—t
@) —-*e (4) — *o
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120.Functionwy.+ x* - 3x* + 5 has a point of inflaxion ;

(1} atx=-t _ (2} atx=1
(3) atx=2 (4) atx=0
Wy=x{—3x"’+5$l=lﬁ’:rqﬁaﬁ=rﬁ-_g%:
(1) x=-19% (2) x=19%
(3) x=2T% (4) x=0TUX

121, Grass-Root Planning refers to :
{1) Cemmunity Development Programme
(2) Lend Revenue System
(3) Prominanace to sectoral priorities

(4) Panchayati Raj

qU-gw FaeE e B
(1) | faora w8 (2) g-Tor ogawen @
(3) g afraar & meew § (4) demEdt oW @

122.The famous report of “Our Common Future” is concerned with :
(1) Economic development
(2) "Sustainable development
(3) Economic growth
(4] Development of infrastructue

“HEY A Y @ gt oRkeEe aate § o
(1} amtets feprg & 12y gi9eig R &

(3) ot wghs | (4) AT @ B ReerE |
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133.The sector having the fastest rate of growth in Indidn economy at

present is :
{1) Agricuiture (2) Manufacturing’
(3) Services (4) Public sector !

ATedty ardarar § adEH T # Rre 4 & Rwee iy gwitas
2 a8 ¥ .

(1) BN (2) Fafemitor

(3) [ (4) WY &=
124.Who is the Chairman of Planning Commission of India ?

{1) President of India (2} Finance Minister

(3) Prime Minister (4) None of the above

MR QAT ST & e T Een ¥ 7

(1) STE o ITgafey (2) Pores=h _

(3) ST (4) ST ¥ { i A

128. Mahatma Gandhi National Rural Employment Guarantee Scheme
was started in :

(1) February 3, 2006 (2) April 1, 2006
(3) February 2, 2005 (4) April 1, 2005
wETT At osSrg A Qe AReE G ge 3w T
(1) WL 3, 2006 (2) 9T 1, 2006
(3) wEEd 2, 2005 (4) < 1,2005
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126. With the economic growth, the contribution of service sector in National

Income : _
(1) ﬁecra;gse (2) -.]ncrease

" {3) ﬁnchangcd (4} None of these
enﬁfwﬁqﬁ%m—mu@umﬂﬁmﬁ%aamm:
(1) wear % (2) #gaT B
(3) omfteeiig dar ¥ (4) T & B W

127.Which economic sector is assaclated with the term ‘disguised
unemployment ? “ |

{1) Small scalé sector (2) Transp;nrt sector

(3] Agriculture sector (4) PForeign trad: sector
W enfdw & sy AmE % R & e ¥ 7
(1) g ¥ B (2) RaeT @

(3) HY &= : 4) PRR¥M =/ AW

13&. National Income Data in India are compiled by :
(1) Plann:in-g Commission
{2} Centrai Staﬁsﬁca] Organisation
{3) Finance Ministry
{4} Ministry of Planning
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ﬂﬂaﬁﬂ@umaﬁmﬁtmmmﬁmﬁ“i
(1) I ARG FG 2) F=T Hiewdm @R &4
(3) Fre d=E & 14) N WA BT

129. Which of the following concept is not used in the measurement af
unemployment in India : '

(1) Usual status (2) Annual status

(3) Weekly status (4) Daily status

ﬁmﬁﬁﬁmwmnﬁwmﬁﬁr@nﬁwﬁémm

(1) \eTa fef (2) afies Refer
(3) wrarfes Refe (4) _%ﬁfﬁ Feerfey

130.Unemployment in developing countries is due o'

(1) Demand deficiency (2] Structural preblems
(3} Cyclical pfoblcms (4} none of these
Prprasher 29t § SOETd & e § o

(1) ®fT gl (2) TR G
(3} T g (4} I | Hg G

131. Construction is a part of . _
(1) Primary sector . (2) Secondary sector

{3) Tertiary sector {4) none of thesc
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fermeT fermt g E

(1) wrafyes &= () ffas @ @ _

(3) TeEE f= o (4) T4 F et = o W
132. Which age group have the maximum share jn population of India ?

(1) 0-4 year (2)  5-14 year ,

{3} 13-60 year (4) more than 61 year

Wﬂ%aﬂmﬁrﬁﬂma@aﬁzﬁrﬂﬁﬁﬁmﬂm%?

(1) 0-4 gd (2) 5-14 g

(3) 15-60 g o (4) 61 a¥ § afers
133.Which of the following states has high»::st Sex Ratic in Indig ?

(1) Gujarat | (2) Kerala |

(3) Tamilnadu {4) - Orissa

mﬁﬁwﬁﬁﬁmwﬂmﬁmmm%?

(1) T=Iad (2} W

(3) AT (4) I
134.8ize of holding less than one hertere is categorised undcr. ;

(1) Marginal (2) Small

{3) Medium (4) Large

U BRAC § T ABR B AT F Prey Ao F vy oy T

(1} AT (2) g

(3) ey 14) &t
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138.Green Revolution has increased mainly the prpduction of :

({1 Maize | (2) Bazra

" 13) Wheat : (4} Oil sead
shre wify & 7o w9 8 Frare B FgE ¥ o
(1) 7 B @) ;EL A
@ = (4) TorTES o

136.The crop having largest area under irrigation in India is :

(1) Wheat {2) Pulses

{3) Rice (4) Oil seed
W i wey ot fitue &9 ReR e % a9 ¥ 7
(1) M (2) =
(3) o= (4) Frees

137.The main objective of the New Agriculture Policy 2000 is
(1) Sustain development in agricuture
(2) To implement land reform in agriculture
(3) Ta inzrease employment in agricutture
(4) To achieve the target of 4% annual growth rate in agricuiture

T gy ART-2000 F IHE IR ¥

(1) i ¥ Ty e |

2) Hfw A 9fy gt AE wET

3y Sy # IsmT A "G

(4) B Ao W afes g & & W W T AT
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138. Rashtriva Krishi Bima Yojana was introduced in :

TS W drr AT S e B &
(1) 1991 (2) 1994 3) 1996 (4) 1999

139, The situation of employmet where margmal productivity of labour is
zero identified as :

(1) Structural umemployment
{2) Seasonal unemployment
(3] Cyclinal unemployment
(4) Disguised unemployment

AT =t g feafar wET o= &t dmra Samsar g3 8 8, @
ST AT # -

(1) E{9eHE aermd (2) A AT
(3) =B SdewI 4) g=B= AT

140.During planning period the foreign trade of India is :
(1) Increased only in quantity |
(2} Increased only in prices
(3} Increased both in quantity and prices
(4) Decreased both in quantity and prices

RS e d A # REeh s
(1) @& T § AT B

[2) Faw goq ¥ TgT B

(38) ¥ ©F yoq QAT 7 T B

(4) T U qea at # e B
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141. Which institution provides finance to meet short term balance of

payment problem ?

(1} IMF (2] [BRD (3) GATT (4) WTO
SEIEFAN AN WA A wTE | quY $ WY AE 6o
Porceliy wem@ar & B 7

(1) 3FE.0H.T%.. (2) o.&emT.#,

(3 = | (4) T=g.A.EL

142. Personal Disposible Income is equal 1o :
(1) Personal Income + Direct Taxes
(2) Personal Income - Direct Taxes
(3) Personal Income + Indirect Taxes

(4) Personal Income - Indirect Taxes

RS TEeg Ay qaE] ger ¥
(1) R o + W B
(2) YafEE aTa - S &Y
(3) Hafemer ama + SITEE HT
(4) Yol amg - ST H

143.India jeined the World Trade Organization in :

ey forog aamae @es ® afeias ge ¢
(1) 1048 (2) 1966 (3) 1991 (4) 1995
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144.What is the major objective to establish District industry Centre ?

{1} To provide financial assistance to the smail scale and cottégc
industries |

(2) To provide technical assistance to the small scale and cottage

industries .
(3} to provide finance, technical assistance and raw material to

small scale and cottage industries

(4} To pravide markets for the small scale and cottage industries

@i JEM F% T I BT Y qeH JEed a9 ¥ 7

(1) g @& FEN A A s g=mar &= A

(2) Y Ud HET AR A THAH TOMEA I HLAT

(3) @Y o FER IJA H BT, TEEn qerEar 9§ Fer A
HaT =hIAT g

(4) WY o FET IAFT H AT ITH FHAT

-

145.Big-push theory has becen propounded by :

(1) Ragner Nurkse (2) W.A. Lewis

(3) W.W.Rostow (4) Rasenstein Rodan
3 WS & faer @ ufues R 8 o

(1} T T (2) T=g.O.JEE

(3) T=9. T=g. Ted (4 WAL VW
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146. Which of the following stages of economic growth has not been stated
by Rostow ? '

(1) Stage of traditional society
(2) Stage of take off
(3) Stage of manopely capitalism o

(4} Stage of mass consumption

aﬁﬁmﬁmaﬁﬁrﬁraﬁwmﬁﬁmr@ﬁmﬁw%qﬁ
frr & 7

(1) IO AT & ST
(2) STH-THR A verea

(3) U qoers dt e
(4) a3rfirs IUHERET S arERd

147.Critical minimum effort theary is prepounded by :

(1) Rosenstein Rodan (2) Harvey Leibenstein
(3) James Mill (4) Ragner Nurkse
I wgeas wary R & aferaEe e ¥ 7

(1) T I (2} =@ sfa=dE

(3) Se I 4) T "

148.Who of the rollow: ng economists has mot supported the theory of
balanced growth.

(1) Nurkse (2) Hirshman
(3] Lewis (4) Rosenstein :odun

60
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T syt & @ AR dafer R o awed wd T

T
(1) 7= ' 2) =dd=
(3) [T 4] TF=HT TEE

149.W.W. Rostow has classified the process of economic growth into
following stages :
(1} Twag stages (2} Three stages
(3) Four stages ‘ (4) Five stages

swg.5ay, I X onfi frmr @ s B R emeenet

e fomar & -
(1) & sreemedf F (2) dF sygeemsit §

(3) =T gwyraft ¥ (4) YT SrEReEmat #

180.The Planning Commission of India was established in :

NG IS AR & e #t o
(1) 1948 (2) 1950 (3) 1952 (4) 1954
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ROUGH WORK
s W
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sreaféral & forg f¥m
(e GIFNT & TH-STATOT g OT gu IWe-a¥ & A6 pet
Fam -t Aoy 49 @ B e
¥ e e & 10 fime & s @ 3@ & f w8 ot 7e A ¥ SR
e T A B Oftr AV T 9 TSR e e -l w3 we gt
T @ gel JREw s Al '
wiien ER § T T waw-ax & sfte, o a1 9 Wt O gen e A
7 F @ |
Te- o o & frar B y@ 3 0 W S 7 0 g w1 gEw awr- W A8 ' i
mm-wmﬂqﬂmmm;

S S T 3T RS S S-S WO R i e

FHT-07 & FAV T 6T 47 § I FPwAw Ry v o7 frgd aer @ G ot #
mar @5 &1 gt- ot v @ awl ¥E- GIENET O W e @2 @7 AT I A
v féval:

Fo THe ATo UF T NTEWE Fow, NYAGRTE WA ¥ A2 wOAT (TR B W)
YFTGRAET T ST ST So Q¥ WTo T WOW wY N 3 Jfrevary F gy
i

Fugfr wifet F wif o afreT S A Jre ST T Wi e & W
T w7 AT WA WA
m-gﬁhﬁ'mﬂwmtmmmﬁﬂjﬁm‘mthﬁ!m#m
sTTE} we-ox # walRy ARy & wred i m W w5 Ir-ox & yaw g oy e
et & argar 97 @ myr wTw

T T % 3 & B0 ¥R U @ g9 ) TR R TF § SS9 A I
T FoEl TF g9 B ST YT T a8 S e A A

a7 § e g & ) T Sfen awe agen w7 awm & i ara et v W I
247 3 wmeR & ) W ofay & W A @ wet gl 5 w oly &1 88w TR
& Ft A

= w74 & f TR ¥ TETe & A A ge A Im-gfer & siftr
WM B

T & IR G9 S UW AT F9T-q¥ T e W wm & d .

Tl ToE B ¥ e v0ET waw ¥ A I F sla A& Eeh

oz wrf aradf wien # wAfEE A 1 9E & &, @ we Rreafreey g it
&5 FEt, woit g :



